Crypto Quiz

The following activities are designed to take about 5 minutes each. They are great for lesson-starters!
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How many ways can you encode the word SECRET using a monoalphabetic cipher? (ie where each letter is substituted with another letter from the alphabet, each letter only being used once)
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Decode the following message. It has been encoded in binary (so that eg. 0 = A , 1 = B , 10 = C , etc.)


100011 , 100001, 100100 , 100 , 1010 , 1101 , 1110 , 100110 , 1011 , 100 , 11 , 110 , 100 , 100 , 100111 , 1000 , 100010 , 100011 , 100010 , 1000 , 1101 , 1010 , 1101 , 1110 , 100110 , 1000 , 1101 , 110 , 100011 , 111 , 0 , 100011 , 101000 , 1110 , 100100 , 1010 , 1101 , 1110 , 100110 , 1101 , 1110 , 100011 , 111 , 1000 , 1101 , 110

(Socrates) 
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Morse Code uses . (dots) and – (dashes). What is the minimum length of signal required to transmit all letters of the alphabet? (ie. Dot dot dash would have length 3) How many ‘unused’ signals will there be of this length?
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Should we have a right to secrecy? Given that police rely on intelligence to crack crime, should we all have access to unbreakable codes? Discuss with a friend.

Crypto Quiz Answers
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There are (26*25*24*23*22)-1 = 165765599 ways to encode SECRET. The word has 6 letters but two are the same, which is why we do not multiply by 21. Also, since we couldn’t encode it by leaving it unchanged, we have to subtract 1.
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TRUE KNOWLEDGE EXISTS IN KNOWING THAT YOU KNOW NOTHING
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The minimum length required is 4, which gives 30 possible combinations, and hence 4 spare.
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More information on this topic can be found on ‘The Code Book’ CD, which is available from http://www.simonsingh.net
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